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(Micro Economics — I}

Wﬁte the answers to Questions of each / Half / Part
- /Group in separate books wherever necessary.

The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their
own words as far as practicable.

lllustrate the answers wherever necessary.

Group — A
. Answer any Five questions : 2x5
1. (a) Whatis natural monopoly?
‘ (b) What is Lerners Index?

(c) What does product differentiation mean?
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(d) Elucidate the concept of production
efficiency? .
(e) Whatis monopoly power?
(f) What is dead weight loss?
(g) Explain the idea of selling cost?
(h) What is collective bargaining ?
Group - B _
Answer any Three questions : 5x%x3

2. What do you mean by multi plant monopoly?

State and explan the equilibrium condition of muli
plant monopolist.

3. What is price discrimination? What are the
different types of price discrimination?

4. What do you mean by Kinked demand curve in
oligopaly.
Explain the marginal productivity theory?
Briefly explain the conditions of Pareto optimality.

Examine the effects of unit tax on price and
output of a firm under monopoly.

Group - C
Answer any Two questions : 10 % 2
B.  What is the difference between MRP_ & VMP,.

How is labour market equilibrium determined when
there is perfect competition in labour market?
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9. "Labour supply is backward bending". Explain
using indifference curve approach.

10. Define the assumption of Cournot model? How is
equilibrium reached in Cournot model? Explain.

11. What is externality? Define and explain different
- types of externalities.

SECOND HALF

(Use separate answer sheet)

(Macro Economics - 1)

‘ Group - A

An‘iswer any five questions : 2x%5

a) Whatis Okun's [aw?

b) Define GDP-deflator?

¢) Whatis balanced budget?

d) Whatis natural rate of growth?

) What do you mean by neutrality of money?

fy  Whatis stagflation?

g) Distinguish between demand pull and cost
push inflations.

_‘" (h)  What are the features of production function
| under Solow Growth Model?

Group - B
Answer any three questions : : a %
2. Explain the circular flow of Income 7
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3. What are basic assumptions of Harrod model of
growth?
Briefly explain the Acceleration Principle.

’

Explain the Knife-edge Problem in Harrod-Domar

Growth Model.
6. Determine the equilibrium in simple Keynesian
Model.
Group - C
Answer any two questions : 10 x 2

7. Explain the absolute income hypothesis? What
are the short comings of the model.

8. What are the reasons for demand for money?
How do you explain the Baumol's model of
inventory theoritic apporach to money demand.

9. Explain the theoretical justification for the short
run and long run Phillips Curve. Why is long run
Phillips Curve usually steeper than the short run

Phillips Curve.

10. Show briefly how the interaction between the
multiplier and the accelerator may lead to cyclical

fluctuations in income.
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Bengali Version

(Macro Economics — i)
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(Macro Economics - )
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